

Received May 2nd, 2022; Revised May 23th, 2022; Accepted May 25th, 2022

An online counseling intervention for Nigerian undergraduates with academic burnout

Chiedu Eseadi^{1*} ¹University of Johannesburg, Johannesburg, South Africa *Corresponding author, e-mail: chiediue@uj.ac.za

Abstract

A growing problem among university students is academic burnout, and it has become more prevalent in recent years. With the increasing demand for school mental health services, online counseling interventions are gradually being regarded as a reasonable way to provide assistance to students with regard to burnout reduction. It was the researcher's aim to find out whether an online counseling intervention would be able to reduce academic burnout in a Nigerian undergraduate sample. A total of 80 Nigerian undergraduates were participants of this study. In this study, the participants were randomly assigned to the intervention group (n=40) and to the control group (n=40) by using a simple randomization procedure. For the collection of data, the Oldenburg Burnout Inventory for Students and the Students School Burnout Inventory were utilised. The researcher applied repeated measures ANOVA to examine within and between groups' mean differences, reported η^2 to establish treatment effect size, and conducted posthoc analyses where mean differences existed using Holm's approach. The results of the study demonstrate that the online counseling intervention for academic burnout was effective in reducing the level of academic burnout among Nigerian undergraduates. As online counseling can help students reduce academic burnout, this finding opens the door to reach a larger number of burned-out students, such as those who live off-campus or are afraid of social stigma when seeking mental health care. This intervention has the potential to significantly improve student mental health related to burnout in other higher education settings like polytechnics. It is recommended that students should be encouraged to receive psychological supports and care from the university's counseling centre, not just during crises, but as a regular process of mental health support.

Keywords: Academic burnout, Online counseling, Telegram, Undergraduate students

How to Cite: Eseadi, C. (2022). An online counseling intervention for Nigerian undergraduates with academic burnout. *International Journal of Research in Counseling and Education*, 6 (1), pp. 35-44, DOI: <u>https://doi.org/10.24036/00514za0002</u>

This is an open access article distributed under the Creative Commons 4.0 Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited. ©2022 by Author.

Introduction

 $(\mathbf{\hat{p}})$

There is a growing body of literature that demonstrates how common academic burnout has become, with occurrence rates ranging from 7.2% to 70.6% (Al-Alawi et al., 2019; Almeida et al., 2016; Bakare et al., 2019; Boni et al., 2018; Loayza-Castro et al., 2016; Wickramasinghe et al., 2018). The term academic burnout has been used to describe the concept of burnout in the context of education. Schaufeli et al., (2002) defines academic burnout as being exhausted by excessive academic demands, resulting in negative attitudes and pessimistic outlooks towards academic tasks. A student experiencing academic burnout will exhibit a lack of enthusiasm for the course content, an inability to concentrate in class, a feeling of insignificance, an inability to participate in class events, and an unproductive attitude toward school work (Demerouti et al., 2010).

Nigerian undergraduates are crucial to achieving the objectives of university education, which includes producing skilled and competent graduates who are knowledgeable and capable of taking leadership positions (Ezeudu, Nwoji, et al., 2020). Nigerian undergraduate students are prepared to become informed and active citizens in Nigerian, African, and global contexts. Academic and extracurricular activities are part of undergraduate programs. Undergraduate students suffer from academic burnout in Nigeria. Olujide et al. (2017) reported that 68 percent of undergraduate students in their study have academic burnout. Obekpa et al. (2020) found a significant prevalence of burnout with 16.4%, 24.7 percent, and 20.8 percent, respectively, for emotional exhaustion, cynicism, and decreased academic efficacy. Academic burnout was 15.8% among education undergraduate students on the emotional exhaustion subscale, 15.3% and 17.9% for law and medicine

students, respectively. In the subscale of cynicism, education undergraduates had the most burnout (35.6%), followed by medical undergraduates (20.4%), and law undergraduates with the least rate (16.7%). In the subscale of academic efficacy, medical students reported the highest burnout rate (30.4%), followed by students in education (24.3%) and law (5.1%) (Obekpa et al., 2020). Ayinde et al. (2021) reported 84.6% disengagement and 77.0% exhaustion rates among Nigerian medical students. Other research findings revealed that Nigerian students enrolled in various university education programs experiences academic burnout symptoms that can be alleviated through counseling interventions (Bakare et al., 2019; Ezeudu, Attah, et al., 2020; Ezeudu, Nwoji, et al., 2020; Ogbuanya et al., 2019).

As we live in a world that is increasingly relying on digital technologies, the counseling profession is changing and adopting available technological tools for distance counseling purposes (Kaplan et al., 2017). Thus, the counseling profession is experiencing a technological revolution similar to other professions, and with the development of new technologies, counselors are gaining access to an increasing number of opportunities to address their clients' diverse needs (Kaplan et al., 2017; Woo et al., 2020). As counseling interventions can be delivered either in-person or online, clients have the option to choose whether or not to use online counseling technology as part of the counseling process (American Counseling Association, 2014; Woo et al., 2020). Online-delivered intervention appears to be just as supportive as in-person-delivered intervention (Bettger et al., 2020; Josephine et al., 2017; Kim et al., 2018; Langarizadeh et al., 2017; Navarro et al., 2019; Reynolds Jr et al., 2013; Richards & Richardson, 2012; Wagner et al., 2014). Online counseling is defined in multiple ways in the literature. This type of counseling is provided through a computer-based communication system by a professional counselor via several media such as e-mail, telegram, chat, or video systems. The definition of online counseling by Mallen and Vogel (2005) is that of offering mental and behavioral health services, including therapy, consultation and psycho-education, over the telephone, asynchronous email, synchronous chat, and videoconferencing, without the need for face-to-face meetings. Depending on the communication style, it can be either synchronous or asynchronous, and it can either take place alone or in conjunction with face-to-face counseling (Maheu et al., 2004; Woo et al., 2020). Clients' anonymity, zero transportation costs for participants and instructors, convenience and accessibility across physical locations, and disability are all advantages of online counseling interventions over face-to-face interventions (American Counseling Association, 2014; Andersson & Titov, 2014). In partnership with the counselor, the client starts electronic contact, picks choices, and sets the pace of interaction and outcomes, giving the client a sense of autonomy and empowerment. As a result, the client keeps a sense of ownership, as is typical of traditional faceto-face therapy (Andersson, 2018; Andersson et al., 2016; Mallen & Vogel, 2005; Mullin et al., 2015). In order to build and maintain an effective therapeutic relationship, it is important that the clients and counselor agree on the goals and activities to be accomplished and that they establish a trusting relationship.

When employing online counseling approach, counselors are required to possess knowledge and skills related to the technical, ethical, and legal aspects of using distance counseling, technologies and social media (American Counseling Association, 2014). The use of modern technologies in counseling enhances note-taking, information acquisition, and data storage for counselors (Conn et al., 2009). The use of mobile messaging applications like Telegram makes online counseling feasible, and this alternative allows clients to easily seek treatment without traveling to meet with a counselor. Thus, the telegram was used as the online counseling tool by the researcher for delivering the intervention in this study. This application supports instant messaging, sending large sized communication files, broadcast channels and groups, and boasts a higher connection speed, high user capacity, and suitability for any internet connected device (Chaple-Gil & Afrashtehfar, 2020). In order to provide a quality counseling service to the client, it is very important to actively engage them and cultivate an online relationship that maintains the client's interest and creates a positive experience (Evans, 2008). Several studies have demonstrated the efficacy of online interventions and therapies in treating issues like depression, anxiety, and problematic substance use (Andersson et al., 2016; Josephine et al., 2017; Mayo-Wilson & Montgomery, 2013; Richards & Richardson, 2012). It is noteworthy that despite the fact that evidence about the effectiveness of online counseling intervention is growing, Dowling and Rickwood (2013) observed that the quality of the existing studies on this subject remains low. According to the researcher's evaluation of the past and current literature, research on the usefulness of online counseling intervention in reducing academic burnout among university students is limited. As a result, the goal of this study is to see how successful an online counseling intervention can be in reducing academic burnout among Nigerian undergraduate students. It was hypothesized that providing online counseling intervention to Nigerian undergraduate students will significantly reduce their academic burnout.

Method

Sample and sampling method

Study participants were undergraduate students at federal and state universities in Nigeria's southeast region. Eighty participants (age range: 20-26 years old) were chosen using simple random sampling. The

researcher surveyed a total of 468 undergraduate students to determine their eligibility for inclusion in the study. There were 245 students (52.35%) who met the requirement for a high level of burnout. Participants were also required to not have been involved in any other burnout intervention program during the study period, and not have a current or past mental illness. With a power of 80%, the researcher estimated an acceptable sample size of 28 using 3.1 version of GPower (Faul et al., 2007) with an effect size of 0.25 at 0.05 probability level. In this study, the participants were randomly assigned to the intervention group (n=40) and to the control group (n=40) by using a simple randomization procedure (computer generated random numbers) within Random Allocation Software (Saghaei, 2004).

Instrumentation

Academic burnout was assessed with the Oldenburg Burnout Inventory for Students (OLBI-S) (Reis et al., 2015) which has 16 items designed to measure exhaustion (owing to the demands of studying) and disengagement (an attitude of detachment from academic studies), each with eight questions. Student burnout is determined by the sum of the two subscales. In this study, Cronbach's alpha values for exhaustion and disengagement were 0.83 and 0.87, respectively.

Academic burnout was also measured with the Students School Burnout Inventory (Khani et al., 2018). This questionnaire consists of 16 items scored on a Likert scale of 1 to 6. The lowest score on this instrument is 16 and the highest score is 96. Four dimensions of academic burnout are measured by this self-report questionnaire: pessimism toward the school (4 items), burnout from school (5 items), assignments, feeling of inadequacy in school (4 items), and burnout from problems which school develops (3 items). In terms of internal consistency, the subscales had Cronbach's alpha coefficients of 0.73, 0.79, 0.74, and 0.71 for pessimism toward the school, burnout from school, assignments, feeling of inadequacy in school, burnout from school, assignments, feeling of inadequacy in school, burnout from school, assignments, feeling of inadequacy in school, and burnout from problems which school develops, respectively.

Procedure

Participants were notified about the study's kick-off date and invited through an e-mail link to a Telegram group. The consent forms specifically asked the students for their agreement to engage in an online telegram counseling intervention. These students were told about the intervention's specifics as well as the confidentiality with which their personal information will be handled. Thereafter, an eight weeks online counseling intervention was held. The OLBI-S and students school burnout inventory were administered after the last session of the 8th week to collect post-test data. One month later, follow-up sessions were held. This went on for two weeks and the researcher collected follow-up data at the end. Two professionally trained counselors assisted the researcher in the delivery and monitoring of the online counseling intervention.

An integrative counseling approach integrating cognitive, emotive, behavioral and psycho-educational techniques was used for this online intervention. The online counseling intervention provided students with a brief consultation of sixteen sessions. Students were assisted in identifying the main factors that contribute to their burnout and how to best address those factors based on a counseling framework by Ogbuanya et al. (2019). The researcher sought to create a safe online relationship environment by establishing a therapeutic alliance with the students. This online counseling intervention provides students with an opportunity to reflect on and dispute their burnout beliefs that underlie their rationale for partaking in the intervention. It also provides an opportunity for students to reflect on their perspectives about general mental and emotional health at school. Students were asked to describe and analyze their thoughts and identify presumed factors that contributed to their academic burnout. The intervention also aimed at identifying, acknowledging, and challenging coping strategies related to students' burnout. The counselor proactively evaluated and addressed the students' short and long-term needs pertaining to academic burnout prevention using online counselling skills and techniques recommended by Evans, (2008). The online counseling sessions took place for a period of 60 minutes. For the purpose of comparison, the treatment-as-usual approach was used for the students in the control group.

Analysis Plan

Mean and standard deviation scores of students' academic burnout were reported for both the treatment and control groups. The researcher applied repeated measures ANOVA to examine within and between groups' mean differences, reported η^2 to establish treatment effect size, and conducted posthoc analyses where mean differences existed using Holm's approach. All statistical analyses were evaluated at 0.05 level of significance and the statistical program used to perform the analyses was JASP 0.16.1.0.

Research Design and Ethics Statement

In this study, a randomized controlled trial design was utilized and it was approved by the Faculty of Education Research Ethics Committee at the University of Nigeria. Individual participants provided informed

consent prior to participating in the study. Experimental procedures were conducted in accordance with the ethical guidelines of the American Psychological Association

Results

 Table 1: Mean scores and standard deviations of academic burnout as measured by Oldenburg Burnout Inventory for students (OLBI-S).

	Intervention	Ν	Mean	Std. Deviation	Std Error of Mean
Pretest	Experimental Group	40	78.17	3.32	.526
	Control Group	40	78.48	3.26	.516
Posttest	Experimental Group	40	51.05	2.75	.436
	Control Group	40	67.75	4.89	.774
Follow-Up	Experimental Group	40	45.45	5.20	.823
	Control Group	40	62.10	4.31	.682

Table 1 shows the pre-test, posttest and follow-up academic burnout scores with associated standard deviations scores of undergraduate students exposed to online counseling and those who were not exposed to online counseling. The pretest scores indicated that there is similarity in academic burnout scores of experimental (M= 78.17, SD= 3.32) and control groups (M=78.48, SD=3.26). The post-test scores indicated that there was a significant difference in academic burnout scores of experimental (M= 67.75, SD= 4.89) signifying a reduction in undergraduate students' academic burnout scores of experimental groups compared to control group as measured by OLBI-S. There was also a continuous reduction in undergraduate students' academic burnout scores at follow-up for the experimental group (M=45.45, SD= 5.20) compared to the control group (M=62.10, SD= 4.31) with experimental group maintaining lower score of academic burnouts as measured by OLBI-S.

Table 2: Mean scores and standard deviations of academic burnout as measured by students' school burnout inventory.

	Intervention	N	Mean	Std. Deviation	Std Error of Mean
Pretest	Experimental Group	40	84.80	3.48	.551
	Control Group	40	83.60	3.45	.546
Posttest	Experimental Group	40	54.50	2.26	.358
	Control Group	40	74.55	5.82	.921
Follow-Up	Experimental Group	40	43.03	7.89	1.249
	Control Group	40	67.95	4.80	.760

Table 2 shows the pre-test, posttest, and follow-up academic burnout scores with associated standard deviations scores of undergraduate students exposed to online counseling and those who were not exposed to online counseling. The pretest scores indicated that there is similarity in academic burnout scores in experimental (M = 84.80, SD = 3.48) and control groups (M = 83.60, SD = 3.45). The post-test means scores indicated that there was a difference in academic burnout scores of experimental (M = 54.50, SD = 2.26) and control groups (M = 74.55, SD = 5.82) signifying that there was a more decline in undergraduate students' academic burnout scores of experimental group compared to control group as measured by students school burnout inventory. There was also a continuous decline in undergraduate students' academic burnout scores at follow-up for experimental group (M = 43.03, SD = 7.89) when compared to control group (M = 67.97, SD = 4.80) with experimental group maintaining lower scores of academic burnouts as measured by students' school burnout inventory.

Table 3: Repeated measures ANOVA of effect of online counseling on undergraduate students' academic burnout as measured by OLBI-S.

Cases	Sum of Squares	df Mean Square	F	Р	η^2
Group	7548.817	1 7548.817	374.595	< .00	01 0.182
Time	26466.633	2 13233.317	^a 901.956	^a < .00	1 ° 0.638
Time * Group	3575.233	2 1787.617	^a 121.840	^a < .00	1 ° 0.086

In Table 3, repeated measures ANOVA was conducted to assess the effect of online counseling intervention on undergraduate students' academic burnout as measured by OLBI-S. The result showed that there was a significant effect of intervention on undergraduate students' academic burnout as measured with OLBI-S, F(1, 79)=374.595, p<.001, $\eta^2 = 0.182$. The result equally revealed that there is statistically effect of time on undergraduate students' academic burnout, F(2, 78) = 901.956, p<.001, $\eta^2 = 0.638$. Furthermore, the result showed that there was statistically significant interaction effect of time and group, F(2, 112) = 121.840, p<.001, $\eta^2=0.086$. Since there are significance differences in academic burnout mean scores with respect to time, and interaction between time and intervention, the researcher conducted Holm's post hoc analysis by Time to depict where the differences exist.

		Mean Difference	SE	t	Pholm	
Pretest	Posttest	18.925	0.606	31.248	< .001	
	Follow-Up	24.550	0.606	40.536	< .001	
Posttest	Follow-Up	5.625	0.606	9.288	< .001	

Table 4: Post Hoc Comparisons - Times

The data in Table 4 shows the Holm's post hoc comparison of mean scores of academic burn out of undergraduate students based on time. The data showed that students had significantly lower scores of academic burnout at posttest (*Mean difference*= 18.925, standard error= 0.606, p=.001). Furthermore, undergraduate students showed a consistent and significant decline in academic burnout scores at follow-up (*Mean difference*= 5.625, standard error= 0.606, p=.001).

		Mean Difference	SE	t	Pholm
Experimental Group, Pretest	Control Group, Pretest	-0.300		0.908 -0.330	0.741
	Experimental Group, Posttest	27.125		0.856 31.670	< .001
	Control Group, Posttest	10.425		0.908 11.478	< .001
	Experimental Group, Follow-Up	32.725		0.856 38.208	< .001
	Control Group, Follow-Up	16.075		0.908 17.699	< .001
Control Group, Pretest	Experimental Group, Posttest	27.425		0.908 30.195	< .001
	Control Group, Posttest	10.725		0.856 12.522	< .001
	Experimental Group, Follow-Up	33.025		0.908 36.361	< .001
	Control Group, Follow-Up	16.375		0.856 19.119	< .001
Experimental Group, Posttest	Control, Group, Posttest	-16.700		0.908 -18.387	< .001
	Experimental Group, Follow-Up	5.600		0.856 6.538	< .001
	Control Group, Follow-Up	-11.050		0.908 -12.166	< .001
Control Group, Posttest	Experimental Group, Follow-Up	22.300		0.908 24.553	< .001
	Control Group, Follow-Up	5.650		0.856 6.597	< .001
Experimental Group, Follow-Up	o Control Group, Follow-Up	-16.650		0.908 -18.332	< .001

Table 5: Post Hoc Comparisons - Time*Group

In Table 5, Holm's post hoc analysis was conducted for intervention x time interaction. The data shows that at time 1, undergraduate students in intervention and control groups had almost same mean score (*Mean difference*=-0.300, standard error= 0.908, p=0.741). Moreover, undergraduate students in the intervention group had significantly lower academic burnout score at posttest when compared with the control group at time 2 (*Mean difference*=-16.700, standard error=0.908, p<.001) indicating that academic burnout scores of undergraduate students exposed to online counseling significantly dropped compared to control group as measured by OLBI-S. Undergraduate students exposed to online counseling maintained significantly lower academic burnout scores compared to control group at follow-up as measured by OLBI-S (*Mean difference*=-16.650, standard error=0.908, p<.001).

Cases	Sum of Squares	Df Mean Square	F	р	η^2
Group	12775.004	1 12775.004	455.807	< .001	0.210
Time	34485.058	^a 2 ^a 17242.529	^a 744.972	^a < .001	^a 0.567
Time * Group	7718.958	^a 2 ^a 3859.479	^a 166.751	^a < .001	^a 0.127

Table 6: Repeated measures ANOVA of effect of online counseling on undergraduate students' academic burnout as measured by students' school burnout inventory.

In Table 6, repeated measures ANOVA was conducted to assess the effect of online counseling intervention on undergraduate students' academic burnout as measured by students' school burnout inventory. The result showed that there was a significant effect of intervention on undergraduate students' academic burnout as measured with students' school burnout inventory, F(1, 79) = 455.807, p < .001, $\eta^2 = 0.210$. The result equally revealed that there is statistically effect of time on undergraduate students' academic burnout, F (2, 78) = 744.972, p < .001, $\eta^2 = 0.567$. Furthermore, the result showed that there was statistically significant interaction effect of time and group, F(2, 112) = 166.751, p < .001, $\eta^2 = 0.127$. Since there are significance differences in academic burnout scores with respect to time, and interaction between time and intervention, the researcher conducted Holm's post hoc analysis by Time to depict where the differences exist.

Table 7: Post Hoc Comparisons – Times

		Mean Difference	SE	t	p_{holm}
Pretest	Posttest	19.675	0.761	25.865	< .001
	Follow-Up	28.713	0.761	37.746	< .001
Posttest	Follow-Up	9.038	0.761	11.881	< .001

The data in Table 7 shows the Holm post-hoc comparisons of academic burnout scores of undergraduate students based on time as measured by students' school burnout inventory. The data showed that students had significant lower mean score of academic burnout at posttest (*Mean difference*= 19.675, standard error= 0.761, p<.001). Furthermore, undergraduate students had a consistent and significant decline in academic burnout score at follow-up (*Mean difference*= 9.038, standard error= 0.761, p<.001).

		Mean Difference	SE	Т	Pholm	
Experimental Group, Pretest	Control Group, Pretest	1.200	1.113	1.078	0.282	
	Experimental Group, Posttest	30.300	1.076	28.166	< .001	
	Control Group, Posttest	10.250	1.113	9.210	< .001	
	Experimental Group, Follow-Up	41.775	1.076	38.833	< .001	
	Control Group, Follow-Up	16.850	1.113	15.140	< .001	
Control Group, Pretest	Experimental Group, Posttest	29.100	1.113	26.147	< .001	
	Control Group, Posttest	9.050	1.076	8.413	< .001	
	Experimental Group, Follow-Up	40.575	1.113	36.458	< .001	
	Control Group, Follow-Up	15.650	1.076	14.548	< .001	
Experimental Group, Posttest	Control Group, Posttest	-20.050	1.113	-18.015	< .001	
	Experimental Group, Follow-Up	11.475	1.076	10.667	< .001	
	Control, Group, Follow-Up	-13.450	1.113	-12.085	< .001	
Control Group, Posttest	Experimental Group, Follow-Up	31.525	1.113	28.326	< .001	
	Control Group, Follow-Up	6.600	1.076	6.135	< .001	
Experimental Group, Follow-Up	Control Group, Follow-Up	-24.925	1.113	-22.396	< .001	

Table 8: Post Hoc Comparisons - Intervention * Times

- -

Table 8 shows that Holm's post hoc analysis was conducted for intervention x time interaction. The data shows that at time 1, undergraduate students in intervention and control group had almost same mean score (*Mean difference*=1.200, standard error=1.113, p=0.282). Moreover, undergraduate students in the intervention group had significant lower academic burnout score at posttest when compared with the control group at time 2 (*Mean difference*=-20.050, standard error=1.113, p<.001) indicating that academic burnout scores of undergraduate students exposed to online counseling intervention significantly dropped compared to control group as measured by students' school burnout inventory. Undergraduate students exposed to online counseling maintained a significantly lower academic burnout scores compared to control group at follow-up (*Mean difference*=-24.925, standard error=1.113, p<.001) as measured by students' school burnout inventory.

Discussion

The study examined the effect of online counseling on academic burnout among Nigerian undergraduates. The researcher found that academic burnout among Nigerian undergraduates was significantly reduced by online counseling intervention. Analysis of the follow-up data indicates that participants who received the online counseling intervention sustained this positive outcome compared to participants who did not receive it. According to these results, this intervention study is much like other intervention studies that have applied digital technologies to deliver burnout interventions and at the end have reported a significant reduction in burnout as a result of the intervention (e.g. Igbokwe et al., 2019; Iremeka et al., 2021; Ofoegbu et al., 2020). These results add to the growing number of studies showing that online/web-based interventions reduces psychological stress symptoms (Ebert, Heber, et al., 2016; Ebert, Lehr, et al., 2016; Heber et al., 2017; Jerardi et al., 2022). Zeren et al. (2020) indicate that online counseling intervention is beneficial for improving students' psychological wellbeing and health. Mullin et al. (2015) discovered that compared to the control group, an online wellness counseling program reduced anxiety symptoms following treatment and at three months after treatment. Dugdale et al.'s (2019) study suggests that online counseling can be helpful for people experiencing psychological discomfort. Backhaus et al. (2012) reported high levels of satisfaction from patients following an online counseling intervention. Berryhill et al. (2019) found that online counseling intervention can be useful in reducing psychological concern. Online counseling enhances the motivation of counselees to attend appointments by allowing them to communicate with their counselor in real time (Evans, 2008). Using an online self-help intervention, Charbonnier et al. (2022) found an improvement in participants' mental health outcomes.

In this study, which addressed the effect of online counseling interventions on students' academic burnout, the research addressed a knowledge and context gap in online counseling. The study's finding offer insightful guidance to school counselors on how to reduce students' burnout in order to improve effective learning behavior. In the counseling profession, specialists recognize that one's ability to consult with one's clients no longer needs to be limited to in-person, face-to-face interactions. As a result, counselors are constantly evolving and adapting their work to be in tune with the changes occurring in their field, including distance and online counseling technology, and as well as how to use these tools to better assist clients. There are additional difficulties that may come with the use of online counseling, and counselors are always aware of these and take every measure to preserve clients' confidentiality in addition to upholding all legal and ethical requirements (American Counseling Association, 2014). It is important for counselors using online counseling technology in their counseling practice to be aware of the laws and regulations of both the counselor's and the client's locations; ensure their clients are properly informed about relevant legal rights and restrictions applicable to the use of online counseling technology, or social media counseling across state and international boundaries; it is also imperative for counselors to take reasonable actions to ensure the privacy of information and records transmitted electronically. However, counselors should acknowledge the limits of maintaining the privacy of such information and should inform the client of these limits(American Counseling Association, 2014). The researcher believes that providing online counseling can benefit and reinforce students' mental health throughout their university education. Still, there are some issues with the current work. Its sample was restricted to Nigerian undergraduate students. The study results may not apply to college students and postgraduates. The study only included undergraduate students in Southeast Nigeria. In the future, it is necessary to address these limitations so that the quality of evidence and the generalizability of results can be improved.

Conclusion

This report presents empirical data on the effects of an online counseling intervention on school burnout reduction in Nigerian university students. The academic burnout in a sample of Nigerian undergraduate students was reduced through this online counseling intervention. As online counseling can help students reduce academic burnout, this finding opens the door to reach a larger number of burned-out students, such as those who live off-campus or are afraid of social stigma when seeking mental health care. This intervention has the potential to significantly improve student mental health related to burnout in other higher education

settings like polytechnics. It is recommended that students should be encouraged to receive psychological supports and care from the university's counseling centre, not just during crises, but as a regular process of mental health support. Students who are struggling with academic burnout may be assisted by counselors by creating an appropriate climate for diversity and through an integrative online counseling program.

References

- Al-Alawi, M., Al-Sinawi, H., Al-Qubtan, A., Al-Lawati, J., Al-Habsi, A., Al-Shuraiqi, M., Al-Adawi, S., & Panchatcharam, S. M. (2019). Prevalence and determinants of burnout syndrome and depression among medical students at Sultan Qaboos University: A cross-sectional analytical study from Oman. *Archives of Environmental & Occupational Health*, 74(3), 130–139.
- Almeida, G. de C., Souza, H. R. de, Almeida, P. C. de, Almeida, B. de C., & Almeida, G. H. (2016). The prevalence of burnout syndrome in medical students. *Archives of Clinical Psychiatry (São Paulo), 43*, 6–10.
- American Counseling Association. (2014). ACA Code of Ethics. The American Counseling Association.
- Andersson, G. (2018). Internet interventions: Past, present and future. Internet Interventions. 12, 181–188.
- Andersson, G., & Titov, N. (2014). Advantages and limitations of Internet-based interventions for common mental disorders. *World Psychiatry*, 13(1), 4–11.
- Andersson, G., Topooco, N., Havik, O., & Nordgreen, T. (2016). Internet-supported versus face-to-face cognitive behavior therapy for depression. *Expert Review of Neurotherapeutics*, *16*(1), 55–60.
- Ayinde, O. O., Akinnuoye, E. R., Molodynski, A., Battrick, O., & Gureje, O. (2021). A descriptive study of mental health and burnout among Nigerian medical students. *International Journal of Social Psychiatry*, 00207640211057706.
- Backhaus, A., Agha, Z., Maglione, M. L., Repp, A., Ross, B., Zuest, D., Rice-Thorp, N. M., Lohr, J., & Thorp, S. R. (2012). Videoconferencing psychotherapy: A systematic review. *Psychological Services*, *9*(2), 111-131.
- Bakare, J., Omeje, H. O., Yisa, M. A., Orji, C. T., Onyechi, K. C. N., Eseadi, C., Nwajiuba, C. A., & Anyaegbunam, E. N. (2019). Investigation of burnout syndrome among electrical and building technology undergraduate students in Nigeria. *Medicine*, *98*(42), e17581. https://doi.org/10.1097/MD.000000000017581
- Berryhill, M. B., Culmer, N., Williams, N., Halli-Tierney, A., Betancourt, A., Roberts, H., & King, M. (2019). Videoconferencing psychotherapy and depression: A systematic review. *Telemedicine and E-Health*, 25(6), 435–446.
- Bettger, J. P., Green, C. L., Holmes, D. N., Chokshi, A., Mather III, R. C., Hoch, B. T., de Leon, A. J., Aluisio, F., Seyler, T. M., & Del Gaizo, D. J. (2020). Effects of virtual exercise rehabilitation in-home therapy compared with traditional care after total knee arthroplasty: VERITAS, a randomized controlled trial. *JBJS*, *102*(2), 101– 109.
- Boni, R. A. dos S., Paiva, C. E., De Oliveira, M. A., Lucchetti, G., Fregnani, J. H. T. G., & Paiva, B. S. R. (2018). Burnout among medical students during the first years of undergraduate school: Prevalence and associated factors. *PloS One*, *13*(3), e0191746.
- Chaple-Gil, A. M., & Afrashtehfar, K. I. (2020). Telegram Messenger: A suitable tool for Teledentistry. *Journal of Oral Research*, *9*(1), 4–6.
- Charbonnier, E., Trémolière, B., Baussard, L., Goncalves, A., Lespiau, F., Philippe, A. G., & Le Vigouroux, S. (2022). Effects of an online self-help intervention on university students' mental health during COVID-19: A non-randomized controlled pilot study. *Computers in Human Behavior Reports*, *5*, 100175.
- Conn, S. R., Roberts, R. L., & Powell, B. M. (2009). Attitudes and satisfaction with a hybrid model of counseling supervision. *Journal of Educational Technology & Society*, *12*(2), 298–306.
- Dowling, M., & Rickwood, D. (2013). Online counseling and therapy for mental health problems: A systematic review of individual synchronous interventions using chat. *Journal of Technology in Human Services*, *31*(1), 1–21.
- Dugdale, S., Elison-Davies, S., Semper, H., Ward, J., & Davies, G. (2019). Are computer-based treatment programs effective at reducing symptoms of substance misuse and mental health difficulties within adults? A systematic review. *Journal of Dual Diagnosis*, *15*(4), 291–311.
- Ebert, D. D., Heber, E., Berking, M., Riper, H., Cuijpers, P., Funk, B., & Lehr, D. (2016). Self-guided internet-based and mobile-based stress management for employees: Results of a randomised controlled trial. *Occupational and Environmental Medicine*, *73*(5), 315–323.

- Ebert, D. D., Lehr, D., Heber, E., Riper, H., Cuijpers, P., & Berking, M. (2016). Internet-and mobile-based stress management for employees with adherence-focused guidance: Efficacy and mechanism of change. *Scandinavian Journal of Work, Environment & Health*, 382–394.
- Evans, J. (2008). Online counselling and guidance skills: A practical resource for trainees and practitioners. Sage.
- Ezeudu, F. O., Attah, F. O., Onah, A. E., Nwangwu, T. L., & Nnadi, E. M. (2020). Intervention for burnout among postgraduate chemistry education students. *Journal of International Medical Research*, 48(1), 0300060519866279.
- Ezeudu, F. O., Nwoji, I. H. N., Dave-Ugwu, P. O., Abaeme, D. O., Ikegbunna, N. R., Agugu, C. V., Muoneke, M. N., Alabi, A. O., & Nwefuru, B. C. (2020). Intervention for burnout among chemistry education undergraduates in Nigeria. *Journal of International Medical Research*, 48(1), 0300060519867832.
- Faul, F., Erdfelder, E., Lang, A.-G., & Buchner, A. (2007). G* Power 3: A flexible statistical power analysis program for the social, behavioral, and biomedical sciences. *Behavior Research Methods*, *39*(2), 175–191.
- Heber, E., Ebert, D. D., Lehr, D., Cuijpers, P., Berking, M., Nobis, S., & Riper, H. (2017). The benefit of web-and computer-based interventions for stress: A systematic review and meta-analysis. *Journal of Medical Internet Research*, 19(2), e32.
- Ierardi, E., Bottini, M., & Riva Crugnola, C. (2022). Effectiveness of an online versus face-to-face psychodynamic counselling intervention for university students before and during the COVID-19 period. BMC Psychology, 10(1), 1–10.
- Igbokwe, U. L., Nwokenna, E. N., Eseadi, C., Ogbonna, C. S., Nnadi, E. M., Ololo, K. O., Enyoghasim, O. M., Otu, O. A., Uma, K. E., Onuora, T. N., Onwube, O., & Ogbuagu, A. R. (2019). Intervention for burnout among English education undergraduates: implications for curriculum innovation. *Medicine*, *98*(26), e16219.
- Iremeka, F. U., Eseadi, C., Ezenwaji, C., Ezenwaji, I. O., Okide, C. C., Ogbonna, C. S., & Onwuchekwe, S. I. (2021). Effect of school-based rational-emotive behaviour program on burnout among adult learners: Moderating influence of participants' demographic variables. *Journal of Rational-Emotive & Cognitive-Behavior Therapy*, *39*(4), 712-729.
- Josephine, K., Josefine, L., Philipp, D., David, E., & Harald, B. (2017). Internet-and mobile-based depression interventions for people with diagnosed depression: A systematic review and meta-analysis. *Journal of Affective Disorders*, 223, 28–40.
- Kaplan, D. M., Francis, P. C., Hermann, M. A., Baca, J. V., Goodnough, G. E., Hodges, S., Spurgeon, S. L., & Wade, M. E. (2017). New concepts in the 2014 ACA Code of Ethics. *Journal of Counseling & Development*, *95*(1), 110–120.
- Khani, M. H., Mohammadi, M., Anvari, F., & Farsi, M. (2018). Students school burnout inventory: Development, validation, and reliability of scale. *International Journal of School Health*, *5*(1), 1–6.
- Kim, J. I., Yun, J.-Y., Park, H., Park, S.-Y., Ahn, Y., Lee, H., Kim, T.-K., Yoon, S., Lee, Y.-J., & Oh, S. (2018). A mobile videoconference-based intervention on stress reduction and resilience enhancement in employees: Randomized controlled trial. *Journal of Medical Internet Research*, 20(10), e10760.
- Langarizadeh, M., Tabatabaei, M. S., Tavakol, K., Naghipour, M., Rostami, A., & Moghbeli, F. (2017). Telemental health care, an effective alternative to conventional mental care: A systematic review. *Acta Informatica Medica*, *25*(4), 240-246.
- Loayza-Castro, J. A., Correa-López, L. E., Cabello-Vela, C. S., Huamán-Garcia, M. O., Cedillo-Ramírez, L., Vela-Ruiz, J. M., Pérez-Acuña, L. M., Gonzales-Menéndez, M. J. M., & De La Cruz-Vargas, J. A. (2016). Síndrome de burnout en estudiantes universitarios: Tendencias actuales. *Revista de La Facultad de Medicina Humana*, 16(1), 31-36.
- Maheu, M. M., Pulier, M. L., Wilhelm, F. H., McMenamin, J. P., & Brown-Connolly, N. E. (2004). *The mental health professional and the new technologies: A handbook for practice today*. Routledge.
- Mallen, M. J., & Vogel, D. L. (2005). Introduction to the major contribution: Counseling psychology and online counseling. *The Counseling Psychologist*, *33*(6), 761–775.
- Mayo-Wilson, E., & Montgomery, P. (2013). Media-delivered cognitive behavioural therapy and behavioural therapy (self-help) for anxiety disorders in adults. *Cochrane Database of Systematic Reviews, 9*, CD005330.
- Mullin, A., Dear, B. F., Karin, E., Wootton, B. M., Staples, L. G., Johnston, L., Gandy, M., Fogliati, V., & Titov, N. (2015). The UniWellbeing course: A randomised controlled trial of a transdiagnostic internet-delivered

cognitive behavioural therapy (CBT) programme for university students with symptoms of anxiety and depression. *Internet Interventions*, 2(2), 128–136.

- Navarro, P., Bambling, M., Sheffield, J., & Edirippulige, S. (2019). Exploring young people's perceptions of the effectiveness of text-based online counseling: Mixed methods pilot study. *JMIR Mental Health*, *6*(7), e13152.
- Obekpa, I. O., Amedu, M. A., & Udofia, O. (2020). Prevalence and pattern of burnout syndrome and associated quality of life amongst undergraduates of a tertiary institution in Northern Nigeria. *Journal of Epidemiological Society of Nigeria*, *3*(1), 39–51.
- Ofoegbu, T. O., Asogwa, U. D., Ogbonna, C. S., Aloh, H. E., Eseadi, C., Eskay, M., Nji, G. C., Ngwoke, O. R., Agboti, C. I., Nnachi, R. A., Nnachi, O. C., & Otu, M. S. (2020). Effect of digital storytelling intervention on burnout thoughts of adolescent-athletes with disabilities. *Medicine*, *99*(30), e21164. \
- Ogbuanya, T. C., Eseadi, C., Orji, C. T., Omeje, J. C., Anyanwu, J. I., Ugwoke, S. C., & Edeh, N. C. (2019). Effect of rational-emotive behavior therapy program on the symptoms of burnout syndrome among undergraduate electronics work students in Nigeria. *Psychological Reports, 122*(1), 4–22.
- Olujide, A. A., Alao, A. A., & Odukoya, A. J. (2017). Predicting perceived psychological burnout among sophomore students of Covenant. *Social Sci, 12*, 2022–2027.
- Reis, D., Xanthopoulou, D., & Tsaousis, I. (2015). Measuring job and academic burnout with the Oldenburg Burnout Inventory (OLBI): Factorial invariance across samples and countries. *Burnout Research*, 2(1), 8–18.
- Reynolds Jr, D. J., Stiles, W. B., Bailer, A. J., & Hughes, M. R. (2013). Impact of exchanges and client-therapist alliance in online-text psychotherapy. *Cyberpsychology, Behavior, and Social Networking*, 16(5), 370– 377.
- Richards, D., & Richardson, T. (2012). Computer-based psychological treatments for depression: A systematic review and meta-analysis. *Clinical Psychology Review*, *32*(4), 329–342.
- Saghaei, M. (2004). Random allocation software for parallel group randomized trials. *BMC Medical Research Methodology*, *4*(1), 1–6.
- Wagner, B., Horn, A. B., & Maercker, A. (2014). Internet-based versus face-to-face cognitive-behavioral intervention for depression: A randomized controlled non-inferiority trial. *Journal of Affective Disorders*, *152*, 113–121.
- Wickramasinghe, N. D., Dissanayake, D. S., & Abeywardena, G. S. (2018). Prevalence and correlates of burnout among collegiate cycle students in Sri Lanka: A school-based cross-sectional study. *Child and Adolescent Psychiatry and Mental Health*, *12*(1), 1–11.
- Woo, H., Dondanville, A., Jang, H., Na, G., & Jang, Y. (2020). A content analysis of the counseling literature on technology integration: American Counseling Association (ACA) counseling journals between 2000 and 2018. *International Journal for the Advancement of Counselling*, 42(3), 319–333.
- Zeren, S. G., Erus, S. M., Amanvermez, Y., Genc, A. B., Yilmaz, M. B., & Duy, B. (2020). The Effectiveness of Online Counseling for University Students in Turkey: A Non-Randomized Controlled Trial. *European Journal* of Educational Research, 9(2), 825–834.